pa = 98
dmcp := 30
dicp := 10
spcp =0
tlp = 6min
t2p = 4min
t3p = 4min
t4p = 10min
Xpa = 2100
Xsp = 2100

Full Costing Based on Production Time

IMCf := 3820
POH1f := 28600
POH2f := 11480
POH3f := 27540
POHA4f := 10600
ACf := 76326
SCf := 114489

DMC := dmca Xpa + dmcgXpg
DMC = 191000

IMCv := 0.03[DMC

IMCv = 5730

pohlv := 0.5min 1

pg = 107

dmcg := 32

1
[00]

dicg:

spcg == 2

tlg := 4min

t2g := 2min

t3g := 3min

t4g := 8min

4000

Xpg :

3960

Xsg

fullo2.med



Full Costing Based on Production Time

. __IMCf + IMCv
imcp = Tﬁﬂm%

imca =15

POH1f + POH1v
t1aXpa + t1gXpg

pohlp :=

pohlp =9

POH2f + POH2v
t2AXpa + t2gXpg

poh2p :=

poh2p =4

POH3f + POH3v
t3aXpa + t3XpB

poh3p :=

poh3p = 7.2

poh2v := 0.3min 1
. =1
poh3v := 0.45min
. =1
pohdv := 0.3min

POH1v :

POH1v = 14300

POH2v :

POH2v = 4920

pohlvila Xpa + pohlvilgXpg

poh2v 2 Xpa + poh2vilgXpg

POH3v := poh3viBa Xpa + poh3viBgXpg

POH3v = 9180

POH4v := pohdv{4a Xpa + pohdvidgXpg

POH4v = 15900

. IMCf + IMCv
imeg = Tiﬂmqg

imcg = 1.6

POH1f + POH1v
t1aXpa + t1gXpg

pohlpg :=

pohlg =6

POH2f + POH2v
2 Xpa + t2gXpg

poh2pg :=

poh2g =2

POH3f + POH3v
t3a Xpa + t3XpB

poh3pg :=

poh3g = 5.4
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POH4f + POH4v
t4pXpa + t4gXpg

pohdp =

pohdp =5

pohdpg =

POH4f + POH4v
t4pXpa + t4gXpg

pohdg =4

mca = dmcp + imcp + dica + pohlp + poh2a + poh3p + pohdp + spea

mcg := dmcg + imcg + dicg + pohlg + poh2g + poh3g + pohdg + spcg

mcp = 66.7

MCOGSp = mcpXsa

mcg = 61

MCOGSg := mcgXsg

MCOGSp = 140070 MCOGSg = 241560

MCOGS:= MCOGSp + MCOGSg

MCOGS = 381630
ACv := O[MCOGS

SCv := OMCOGS

ACf + ACv ACf + ACv
acp = ———— ey, acg .= —————[incg
MCOGS MCOGS
acp =13.34 acg = 12.2
SCf + SCv SCf + SCv
scp = —————[incp scg ;= —————[incg
MCOGS MCOGS
sca = 20.01 scg = 18.3
fCa (= mcp + acp + SCa tcg := mcg + acg + scg
tca = 100.05 tcg = 91.5
ra == pa —tca g := pp — tcg
ra =—-2.05 rg =155
Cost-of-sales results accounting
Ra = ralZsp Rp = rg¥spg
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Full Costing Based on Production Time

Ra = -4305 Rg = 61380
R:=Ra +Rp

R = 57075

Total cost results accounting

Sa = pal¥sa Sg := pl¥sp
Sp = 205800 Sg = 423720
S:=Sp+Sp
S = 629520
ICa = mcp [@pr - st) ICg = ch[ﬁxpB - st)
ICa =0 ICpg = 2440
IC:=ICp + ICR
IC = 2440
TPa = Sp + 1Ca TPg:= Sg + ICp
TPa = 205800 TPg = 426160

TP:= TPy + TP

TP = 631960

MCOPp := mcaXpa MCOPg := mcgXpg

MCOPp = 140070 MCOPg = 244000

MCOP := MCOPp + MCOPg

MCOP = 384070

ACp = acp¥sp ACp = acgl¥spg

ACp =28014 ACpg =48312
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Full Costing Based on Production Time

AC:= ACa + ACg

AC = 76326

SCp = scaXsp SCpg = scglXsp
SCpa = 42021 SCpg = 72468
SC:= SCp + SCpg

SC = 114489

TCOPp := MCOPA + ACp + SCp TCOPg := MCOPg + ACg + SCg
TCOP = 210105 TCOPg = 364780

TCOP:= TCOPa + TCOPg

TCOP = 574885
Rp = TPa — TCOPa Rg:= TPg - TCOPg
Rp = —4305 Rg = 61380

R:=Rp + Rp

R = 57075
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Full Costing Based on Production Time

Legend:
Index A, B for products

p = Selling price

dmc = Direct cost of materials per unit

dic = Direct cost of labour per unit

spc = Special direct production cost per unit

t1 = Production time in Direct Production Cost Centre 1 per unit

t2 = Production time in Direct Production Cost Centre 2 per unit

t3 = Production time in Direct Production Cost Centre 3 per unit

t4 = Production time in Direct Production Cost Centre 4 per unit

Xp = Quantity of goods produced

xs = Quantity of goods sold

IMCT = Fixed indirect cost of materials

POH1f = Fixed production overhead 1 (in Direct Production Cost Centre 1)
POH2f = Fixed production overhead 2 (in Direct Production Cost Centre 2)
POHS3f = Fixed production overhead 3 (in Direct Production Cost Centre 3)
POHA4f = Fixed production overhead 4 (in Direct Production Cost Centre 4)
ACT = Fixed administration cost

SCf = Fixed sales cost

DMC = Direct cost of material

IMCv = Variable indirect cost of material

pohlv = Variable production overhead 1 (in Direct Production Cost Centre 1) per minute
poh2v = Variable production overhead 2 (in Direct Production Cost Centre 2) per minute
poh3v = Variable production overhead 3 (in Direct Production Cost Centre 3) per minute
poh4v = Variable production overhead 4 (in Direct Production Cost Centre 4) per minute
POHL1v = Variable production overhead 1 (in Direct Production Cost Centre 1)
POH2v = Variable production overhead 2 (in Direct Production Cost Centre 2)
POH3v = Variable production overhead 3 (in Direct Production Cost Centre 3)
POHA4v = Variable production overhead 4 (in Direct Production Cost Centre 4)
imc = Indirect cost of materials per unit

pohl = Production overhead 1 per unit

poh2 = Production overhead 2 per unit

poh3 = Production overhead 3 per unit

poh4 = Production overhead 4 per unit

mc = Manufacturing cost per unit

MCOGS = Manufacturing cost of goods sold

ACv = Variable administration cost

SCv = Variable sales cost

ac = Administration cost per unit

sc = Sales cost per unit

tc = Total cost per unit

r = Result per unit

R = Result

S = Sales (value), turnover

IC = Change in inventory of finished goods

TP = Total performance

MCOP = Manufacturing cost of goods produced

AC = Administration cost

SC = Sales cost

TCOP = Total cost of goods produced
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